
5480 5480.5 5481 5481.5 5482
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

5.5−

5−

4.5−

4−

3.5−

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

2.5−

2−

1.5−

1−

0.5−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

6102

6102.5

6103

6103.5

6104

6104.5

6105

6105.5

6106

ru
n

run:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6104}



5480 5480.5 5481 5481.5 5482
cyclenum

79.8−

79.6−

79.4−

79.2−

79−

78.8−

78.6−

78.4−

78.2−

78−

77.8−

77.6−

us
l_

1X
usl_1X:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

4.5

5

5.5

6

6.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

45.5

46

46.5

47

47.5

us
l_

4e
X

usl_4eX:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

18

18.2

18.4

18.6

18.8

19

19.2

19.4

19.6

19.8

20

20.2

us
l_

4e
Y

usl_4eY:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

42−

41.5−

41−

40.5−

40−

us
l_

12
X

usl_12X:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

6102

6102.5

6103

6103.5

6104

6104.5

6105

6105.5

6106

ru
n

run:cyclenum {run == 6104}



5480 5480.5 5481 5481.5 5482
cyclenum

166−

165.5−

165−

164.5−

164−

us
r_

1X

usr_1X:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

12.6

12.8

13

13.2

13.4

13.6

13.8

14

14.2

14.4

14.6

14.8

us
r_

4a
Y

usr_4aY:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

260.6

260.8

261

261.2

261.4

261.6

261.8

262

262.2

262.4

262.6

262.8

us
r_

4e
X

usr_4eX:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

10

10.2

10.4

10.6

10.8

11

11.2

11.4

11.6

11.8

12

12.2

us
r_

4e
Y

usr_4eY:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

54.4−

54.2−

54−

53.8−

53.6−

53.4−

53.2−

53−

52.8−

52.6−

52.4−

52.2−

us
r_

12
X

usr_12X:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

6102

6102.5

6103

6103.5

6104

6104.5

6105

6105.5

6106

ru
n

run:cyclenum {run == 6104}



5480 5480.5 5481 5481.5 5482
cyclenum

24353.6

24353.8

24354

24354.2

24354.4

24354.6

24354.8

24355

24355.2

24355.4

24355.6

24355.8

us
l_

co
il1

usl_coil1:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

4298

4298.2

4298.4

4298.6

4298.8

4299

4299.2

4299.4

4299.6

4299.8

4300

4300.2

us
l_

co
il3

usl_coil3:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

4587.5

4588

4588.5

4589

4589.5

us
l_

co
il4

usl_coil4:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

427

427.5

428

428.5

429

us
l_

co
il6

usl_coil6:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

6433

6433.5

6434

6434.5

6435

us
l_

co
il7

usl_coil7:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

6102

6102.5

6103

6103.5

6104

6104.5

6105

6105.5

6106

ru
n

run:cyclenum {run == 6104}



5480 5480.5 5481 5481.5 5482
cyclenum

19632.5−

19632−

19631.5−

19631−

19630.5−us
r_

co
il1

usr_coil1:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

3285.5−

3285−

3284.5−

3284−

3283.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

1477

1477.2

1477.4

1477.6

1477.8

1478

1478.2

1478.4

1478.6

1478.8

1479

1479.2

us
r_

co
il4

usr_coil4:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

1368−

1367.5−

1367−

1366.5−

1366−

us
r_

co
il6

usr_coil6:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

24313.6

24313.8

24314

24314.2

24314.4

24314.6

24314.8

24315

24315.2

24315.4

24315.6

24315.8

us
r_

co
il7

usr_coil7:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

6102

6102.5

6103

6103.5

6104

6104.5

6105

6105.5

6106

ru
n

run:cyclenum {run == 6104}



5480 5480.5 5481 5481.5 5482
cyclenum

352.5−

352−

351.5−

351−

350.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

25−

24.5−

24−

23.5−

23−1X
_c

oi
l3

1X_coil3:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

216

216.5

217

217.5

218

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

364.5−

364−

363.5−

363−

362.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

52−

51.5−

51−

50.5−

50−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

146

146.5

147

147.5

148

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6104}



5480 5480.5 5481 5481.5 5482
cyclenum

185

185.2

185.4

185.6

185.8

186

186.2

186.4

186.6

186.8

187

187.2

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

70

70.5

71

71.5

72

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

3−

2.5−

2−

1.5−

1−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

194.5

195

195.5

196

196.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

12.6

12.8

13

13.2

13.4

13.6

13.8

14

14.2

14.4

14.6

14.8

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

4.5−

4−

3.5−

3−

2.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6104}



5480 5480.5 5481 5481.5 5482
cyclenum

327−

326.5−

326−

325.5−

325−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

114.5−

114−

113.5−

113−

112.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

29.6

29.8

30

30.2

30.4

30.6

30.8

31

31.2

31.4

31.6

31.8

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

19

19.5

20

20.5

21

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

408.8−

408.6−

408.4−

408.2−

408−

407.8−

407.6−

407.4−

407.2−

407−

406.8−

406.6−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6104}

5480 5480.5 5481 5481.5 5482
cyclenum

6102

6102.5

6103

6103.5

6104

6104.5

6105

6105.5

6106

ru
n

run:cyclenum {run == 6104}
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